
Himawari-8: Example 1 (1 hour) 

http://www.eorc.jaxa.jp/ptree Yukio Kurihara (JAXA) 



Himawari-8: Example 2 (10 
minute) 

http://www.eorc.jaxa.jp/ptree Yukio Kurihara (JAXA) 

Presenter
Presentation Notes
Just an example of H8 SST.
Period is from 00:00 to 23:50 UTC on 17 Oct.. Temporal resolution is 10 minutes
Unnatural line in north east of Australia is caused by a problem with cloud screening.
Cloud masks off the north west coast of Australia are maybe caused by too high temperatures. This is another problem with the cloud screening.
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